
        Mathematics Test 

        Term 1 Test 1 

        Grade 3                Total:         / 68 

 

1. Circle the odd numbers in blue and the even numbers in green: (13) 

 

 

 23   45   20   189  38   145   10   489   603  24  680   121   457   

     

 

2. Find the answers and circle whether the answer is odd or even: 

 

a. 18 - 5 =            odd / even     c. 33 + 8 =   odd / even 

 

b.  43 + 7 =           odd / even     d. 56 - 4 =            odd / even 

(8) 

3. Write down the numbers that are formed: 

Example: 300 + 40 + 2 = 342                                           

 

a. 60 + 8 =               d. 700 + 60 + 5 = 
 

b. 200 + 9 =                           e. 800 + 40 + 9 =  
 

 

c. 300 + 5 =                           f. 300 + 70 + 4 =  

(6)                               

4. What insect is in each of the following positions? Write just the 

letter.  

 
 
 
 
 

     A          B          C          D           E            F          G  

 
 
 
 

                                      

                                                                           (7) 

a. second  e. seventh 

b. fourth                      f. third  

c. first                         g. fifth  

d. sixth  



               

5. Complete the sequence:                       (9) 

 

a. 20 ; 25 ; 30 ; 35 ; 40 ;        ;        ;     
    

b. 36 ; 33 ; 30 ; 27 ;        ;        ;  
 

 

c. 68 ; 64 ; 60 ; 56 ;         ;         ; 

 

6. Write the numbers in the box from smallest to largest:  (8) 

 

            34     40     27     45     70     18     20    50  

 

  

 
 

7. Fill in: > < =                                                                (12) 

 

  a. 45               55   e. 9 + 7 =                 3 + 10 = 

 

  b. 2345            1679      f. 25 + 6=                 16 + 6 = 

 

  c. 657              647       g. 18 + 2 =                20 + 20= 

 

8. Find the missing number:          (5) 

 

a. 300 +         + 4 = 324 
 

b.         +  60 + 8 = 468 

 

c. 200 + 50 +         = 259 

 

d. 100 + 30 +         = 137 

 

e.         + 80 + 9 = 589 

 

  
 
 


